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1. (4 pts) Differentiate the following: (DON'T simplify):
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2. (7 pts) You are an impoverished graduate student in ecology and must design an experimental
plot for study with 4 identical sections, which are fenced in according to the design below. Define
z to be the width of the plot and y be the length of the plot (total length of fencing on the top
and bottom of the diagram below). Suppose that you have 140 m of fencing available. Iind the
dimensions of the plot that maximizes the area of each plot in your study area. Be sure to show
the formulae for area and length of fence in the space below for partial credit.
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T = 1% m and y= 25 m

Areaof each plot = 1272, 5 m?
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3. {9 pts) Draw the graph of the following function: .
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Find the y and @-intercepts. Find any asymptotes (vertical and/or horizontal). Give the derivative
of the function, then determine extrema, (local maxima and/or minima, including the x and y
values). Sketch this function, y(z). (If a maximum or minimum or particular asymptote

doesn’t exist, then write “NONE.”)
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